e SOLUTIONS

24151 Quiz #10 - December 1, 2015, 10 am,

Let €' be the rectangle with vertices (0,0), (5,0),(5,4),(0,4)

. traversed counterclockwise, Use
GIC{H s theorem to evaluate:
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2. Let F(z,y, 2} = (wyz, 2 + yz .y + 0 + z). Caleulate the curl and the divergence of B
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24183 Quiz #10 - December 3, 2015, 10 a.m.
1. Let F(x.y,z) = (y*2% 22yz3 32y?2%). Show that F is conservative by finding a potential
function f(x, 1y, 2).
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2. Let r{u,v) = (u*, 2usin(v), v cos(v)) be a parametric surface. Find the equation of the tangent
plane to the siwface at the point where v =1, # = 0.
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e SOLVTIONS

24182 Quiz #10 - December 3, 2015, 11 a.m,
1. Find a parametric representation of the part of the hyperboloid da? — dy? — 22 = 4 that lies in
front of the yz plane {i.c. # > 0). Hint: Solve for z.
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2. Let m(u,v) = (v + 1,v% + 1, uv) be a parametric surface. Find the equation (in any form you
like) of the tangent plane to the surface at the point (2,9.2).
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